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1. If the latus rectum of an ellipse is equal to

the half of minor axis, then find its eccentricity.
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Answer: B

° Watch Video Solution

2. P(2, 2) is a point on the parabola y* = 2z

and A is its vertex. Q is anoter point on the


https://dl.doubtnut.com/l/_XCZ8hCHY1cah
https://dl.doubtnut.com/l/_jmfdFhk70RdR

parabola such that PQ is perpendicular to AP.

What is the length of PQ.

A /2

B. 2+/2
C.44/2
D. 64/2

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_jmfdFhk70RdR

3. The focal distance of a point on the parabola

y® = 12¢s4. Find the abscissa of this point.

A1l

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_GgJOSX3UJLOu
https://dl.doubtnut.com/l/_2fV6gdaqSJCa

4.If (2, 0) is the vertex and y-axis the directrix
of a parabola then its focus is

A. (0, 0)

B. (-2, 0)

C.(4,0)

D. (-4, 0)

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_2fV6gdaqSJCa

5. Which one of the following points lies
outside the ellipse (azz/az) + (yz/b2)?

A. (a, 0)

B. (O, b)

C. (-a, 0)

D. (a, 0)

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_3CEGSgNF35y3
https://dl.doubtnut.com/l/_4YtrG2Df9zC5

6. What is the equation of the parabola, whose
vertex and focus are on the x-axis at distance a

and b from the origin respectively ?
(b >a > 0)

Ay’ =8(b—a)(x —a)

B.y’ = 4(b+ a)(z — a)

C.y> = 4(b— a)(z + a)

D.y* = 4(b—a)(z — a)

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_4YtrG2Df9zC5

7.1f the eccentricity and length of latus rectum

V13 10 _
3 and 3 units

of a hyperbola are
respectively, then what is the length of the

transvers axis ?

A. —unit

B.12 unit

15
C. —unit

15
D. —unit

Answer: C

I ° Wiak~h \NtAaA CAaliikian



https://dl.doubtnut.com/l/_WZqKBzENxh37

8. In how many points do the ellipse

2y
T—|—?:1 and the circle z2 +9y?> =9

intersect ?

A. One
B. Two
C. Four

D. None of above

Answer: D



https://dl.doubtnut.com/l/_WZqKBzENxh37
https://dl.doubtnut.com/l/_9bmhRnHBz0Pu

[ W Watch Video Solution ]

O, If the foci of the conics

.’132 y2 .’132 y2 1
17 d _ _
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to coincide, then what is the value of a ?

A 2

B.3

C.4

D. 16

Answer: C

[ @ |


https://dl.doubtnut.com/l/_9bmhRnHBz0Pu
https://dl.doubtnut.com/l/_96ygGmn6LTzC

\ o Watch Video Solution

10. Which one of the following is correct? The

eccentricity of the conic

332 y2

—|— —
a2 + \ b2 + )\

1, (A =0

A. increases with increase in \
B. decreases with increase in \
C. does not changes with A

D. None of above

Answer: B


https://dl.doubtnut.com/l/_96ygGmn6LTzC
https://dl.doubtnut.com/l/_rgE9R7obvHzZ

O Watch Video Solution
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11. Consider the elllpse — + i 1(b > a).

Then, which one of the following is correct ?

A. Real foci do not exist
B. Foci are ( & ae, 0)
C. Foci are ( =+ be, 0)

D. Foci are (0, =+ be)

Answer: D

[ n|A',L,L|'!,I,, o~ _1_ _sn°®° ___


https://dl.doubtnut.com/l/_rgE9R7obvHzZ
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12. Consider the parabolas S; = y* — 4az = 0
and Sy = y? — 4bx = 0. Sy will Sy, if
Aa>b>0
B.b >a >0
C.a > 0,b < but |b|] >a

D.a < 0,b > but |b| > a

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_etVyXXZuJrx1
https://dl.doubtnut.com/l/_VOJzV9XTh98M

13. Equation of the hyperbola with eccentricity
3/2 and foci at (£2,0) is 5z* — 4y* = k°.
What is the value of k ?

A.4/3

B.3/4

C.(4/3)/5

D. (4/4)\/3

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_VOJzV9XTh98M
https://dl.doubtnut.com/l/_ZPmcvJZiy3ic

14. If the latusrectum of an ellipse is equal to

half of minor axis, find its eccentricity.

A1/4
B.1/2
C.v3/5
D.1/3/2

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_ZPmcvJZiy3ic
https://dl.doubtnut.com/l/_bHL0Ar1WEtXp

15. What is the sum of focal radii of any point

on an ellipse equal to ?

A. Length of latusrectum

B. Length of major-axis

C. Length of minor-axis

D. Length of semi-latusretum

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_enOpA5Qb2ocz
https://dl.doubtnut.com/l/_KW0PEzzQcHV4

16. What does an equation of the first degree

containing one arbitray parameter through a

fixed point pepresent ?

A. Circle

B. Straight line

C. Parabola

D. Ellipse

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_KW0PEzzQcHV4
https://dl.doubtnut.com/l/_J9ATFximOuHM

17.The curve y* = — 4az(a > 0) lies in

A. First and fourth quadrants
B. First and second quadrants
C. Second and third quadrants

D. Third and fourth quadrants

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_J9ATFximOuHM
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18. The ellipse 169 + 35 = 1 has the same
Y
eccentricity as the ellipse + = 1. What
a’> b

istheratioofatob ?

A.5/13
B.13/5
C.7/8

D.8/7

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_nLnhs8qbBSCH

19. If (4, 0) and (-4, O) are the foci of an ellipse

and the semiminor axis is 3, then the ellipse

passes thrugh which one of the following

points ?

A.(2,0)

B. (O, 5)

C. (0, 0)

D. (5, 0)

Answer: D

I o Watch Video Solution


https://dl.doubtnut.com/l/_t2SB26ML8UnY

20. What is the locus of points, the difference

of whose distances from two points being

constant ?

A. Pair of straight lines

B. An ellipse

C. A hyperbola

D. A parabola

Answer: C

I n|A',L,L\'!,I,, o~ _1_ _sn°®° ___


https://dl.doubtnut.com/l/_t2SB26ML8UnY
https://dl.doubtnut.com/l/_JiR83LVSmQhF
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21. A circle is drawn with the two foci an ellipse

w2y
— + — =1 at the end of the diameter.
a? b2

What is the equation of the eircle ?
Az’ 4y =a®+ 1
B.z2 + ¢° = a® — b’
C.z% + y? = 2a® + b*

D.z% + y? = 2a® — b

Answer: B



https://dl.doubtnut.com/l/_JiR83LVSmQhF
https://dl.doubtnut.com/l/_fcABhP7Ywsrt

I @ Watch Video Solution I

22. What are the equations of the directrices of
the ellipse 25° + 16y = 400?

Adx £+£25=0

B.3y £25 =0

Cxtl5=0

D.y+25=0

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_fcABhP7Ywsrt
https://dl.doubtnut.com/l/_LKw5vsCQ2qFY

23. Let E be the ellipse

2y
5 + Vi 1 and C be the circle z* + y? = 0.

Let P = (1, 2) and Q = (2, 1). Which one of the
following is correct?

A. Q lies inside C but outside E

B. O lies outside both Cand E

C.Pline inside both Cand E

D.Pline inside C but outside E.

Answer: D


https://dl.doubtnut.com/l/_LKw5vsCQ2qFY
https://dl.doubtnut.com/l/_w1UDCDycfYu7

° Watch Video Solution

24. Find the locus of a point whiich moves in
such a way that the sum of its distances from
the points (a, 0,0) and (a, 0, 0) is constant.
A. Circle
B. Ellipse

C. Hyperbola

D. Parabola

Answer: C


https://dl.doubtnut.com/l/_w1UDCDycfYu7
https://dl.doubtnut.com/l/_UUiUXsaaZnp5

° Watch Video Solution

25. If the latusrectum of an ellipse is equal to

half of minor axis, find its eccentricity.

Al
2

B./3
C.v/3/2
1
D. —
V2
Answer: C

l o WMilakl .\t daa Al ikt amm



https://dl.doubtnut.com/l/_UUiUXsaaZnp5
https://dl.doubtnut.com/l/_dgV852qWwFD7
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26. What are the points of intersection of the
curve 4z* — 9y? = 1 with its conjugate axis ?
A.(1/2,0) and (—1/2,0)
B. (0, 2) and (0, 2)
C.(0,3) and (0, — 3)

D. None such point exists

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_dgV852qWwFD7
https://dl.doubtnut.com/l/_tgAU9tEOYAPC

27. What is the sum of the focal distances of a

2 P
point of an eIIipse — + 2 1?

B.b
C.2a

D. 2b

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_tgAU9tEOYAPC
https://dl.doubtnut.com/l/_uSFEUvrqYCTp

28. Find the area of the triangle formed by the

lines joining the vertex of the parabola

z? = 12yto the ends of its latus rectum.

A. 9 square units

B. 12 square units

C. 14 square units

D. 18 square units

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_d87EGJ94gWhj

29. What is the focal distance of any point
P(z1, y1) on the parabola y* = 4ax?
AZ1+ Y

B. L1Y1

C.axq

D.a + x4

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_n2mlEf4Iczxn
https://dl.doubtnut.com/l/_IHMC0qPXRMgN

30. If the latus rectum of an ellipse is equal to

half of the minor axis, then what is its

eccentricity ?

>

ST I S T i

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_IHMC0qPXRMgN
https://dl.doubtnut.com/l/_KWjwjkDDt9YM

31. What is the eccentricity of the conic

4z® + 9y* = 144?

N o >

o

ol ro §||w P.;\& w|§

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_KWjwjkDDt9YM

32. The sum of focal distances of a point on the

22 y?
ellipse 1 + 9 = lis:

A. 4 units

B. 6 units

C. 8 units

D. 10 units

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_0retDi3kcnwX
https://dl.doubtnut.com/l/_ZzNvmwAv7tcc

33. The eccentricity e of an ellipse satisfies the

condition :

Ae<O

BO<e<l1

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_ZzNvmwAv7tcc

34. The equation of the ellipse whose vertices

are ( £ 5,0) and foci at ( + 4, 0) is

72 yz
A— +— =1
25jL 9
2 2
T Yy
B.— + — =1
9 25
72 yz
C—+—=1
16+25
2 2
T Yy
D.— +— =1
%5 16

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ZAwg18QsCEyc
https://dl.doubtnut.com/l/_cxYhMCvIaAil

35. Difference of Focal radii of any point is

equal to the length of major axis

A. latus rectum

B. semi-transverse axis

C. transverse axis

D. semi-latus rectum

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_cxYhMCvIaAil

36. The foci of  the hyperbola

42 — 9y? — 1 = O are

A(:I:\/13 0)

D. None of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_F6KXvvGz8zNR
https://dl.doubtnut.com/l/_OhGOLShbX2T7

37. The axis of the parabola y* + 2z = Q'is

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_OhGOLShbX2T7

38. What is the sum the major and minor axes

of the ellipse whose eccentricity is 4/5 and

length of latus rectum is 14.4 unit ?

A. 32 units

B. 48 units

C. 64 units

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_cYMcNnUoEYN2

39. Find the area of the greatest rectangle that

2 2
T Y
a2+b2:1

can be inscribed in an ellipse

A. ab
B.2 ab

C.ab/2

D. v ab

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_2pcpoqeBZQFH
https://dl.doubtnut.com/l/_SKG9xult6Kzj

40. Find the area of the greatest rectangle that

.’132 2

can be inscribed in an ellipse + J_ 1
a? b

A.ab(m — 1)
B.2a(m — 1
C.ab(m — 2)

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_SKG9xult6Kzj

41. Consider an ellipse

What is the eauation of parabola whose verted

is at (0, 0) and focus is at (0, 2) ?

Ay 48z =0
B.y’ — 8z =0
C.z’+ 8y =0
D.z2 — 8y =0
Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_bZgvyi2UyvJk

42. Consider an ellipse
What is the length of the latus rectum of the
ellipse 252% + 16y* = 400?

A.25 /2

B.25/4

C.156 /5

D.32/5

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_5jG5r8sPY9pl

43. The line 2y = 3z 4+ 12 cuts the parabola
4y = 3z°.
Where does the line cut the parabola ?

A. At( — 2, 3) only

B. At (4, 12) only

C. At both (-2, 3) and (4, 12)

D. Neither at (-2, 3) nor (4, 12)

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_uFhOvniqBJWk

44. Find the area enclosed by the parabola
4y = 3z* and the line 2y = 3z + 12.

A. 27 square unit

B. 36 squre unit

C. 48 square unit

D. 54 square unit

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_acpfynWPodwc
https://dl.doubtnut.com/l/_8m19yxHkg8Xz

45. The line 2y = 3z + 12 cuts the parabola
4y = 322
Where does the line cut the parabola ?

A.7 square unit

B. 14 square unit

C. 20 square unit

D. 21 square unit

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_8m19yxHkg8Xz
https://dl.doubtnut.com/l/_q9M89XcfCUan

46.The point on y° = 4ax nearst to the focus

has to abscissa equal to

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_q9M89XcfCUan

47. The line 2y = 3z + 12 cuts the parabola
4y = 3z
2?2y
I

The hyperbola — +
a’? b

= 1 passes through
the point (3\/5, 1) and the length of its latus
4
rectum is 3 units. The length of the conjugate
axis is
A. 2 units
B. 3 units

C. 4 units

D. 5 units


https://dl.doubtnut.com/l/_5Nkx3Ym3zoAE

Answer: C

o Watch Video Solution

48. Consider any point P on the ellipse

wZ 2

%5 + 9 = 1in the first quadrant. Let r and s

represent its distances from (4, 0) and (-4, O)

respectively, then (r + s) is equal to:

A. 10 units

B. 9 unit

C.8 unit


https://dl.doubtnut.com/l/_5Nkx3Ym3zoAE
https://dl.doubtnut.com/l/_pb6vjEBFk4PR

D. 6 unit

Answer: A

o Watch Video Solution

49. The eccentricity of the hyperbola

162> — 9y* = 1is?

@ >
Ol w| ot o w

0


https://dl.doubtnut.com/l/_pb6vjEBFk4PR
https://dl.doubtnut.com/l/_UHSEUZfuYfEp

Answer: B

o Watch Video Solution

50. The line 2y = 3z 4 12 cuts the parabola
4y = 3z°.
What is the equation of the hyperbola having

rectum and eccentrieity 8 and 7 respectivly
5


https://dl.doubtnut.com/l/_UHSEUZfuYfEp
https://dl.doubtnut.com/l/_FiNPFl7XZnms

B2+ 2 —1
40 0 20
72 yz
C—+=—=1
40 + 30
332 y2
D.-—— + =— =1
30 + 5
Answer: A

o Watch Video Solution

51. The line 2y = 3x + 12 cuts the parabola
4y = 3z°.

If the ellipse 9z% + 16y* = 144 intersecpts the


https://dl.doubtnut.com/l/_FiNPFl7XZnms
https://dl.doubtnut.com/l/_XyrgKzEqpktM

line 3z 4+ 4y = 12 then what is the length of

the chord so formed ?

A. 5 units

B. 5 units

C. 8 units

D. 10 units

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_XyrgKzEqpktM

52. The line 2y = 3x + 12 cuts the parabola
4y = 3z
What ishte eccentricity of rectangular hyper

bola ?

A3
B. /3
c.\/5
D. /6

Answer: A

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_vhaq44faf3zr

53. Find the coordinates of a point on the
parabola y = z* 4+ 7z + 2 which is closest to
the straight liney = 3z — 3.

A. (0, 2)

B. (-2, -8)

C.(-7,2)

D. (1,10)

Answer: B

I ﬂ Watch Video Solution l


https://dl.doubtnut.com/l/_vhaq44faf3zr
https://dl.doubtnut.com/l/_kfgFDRIhH5qW

54. Find the coordinates of a point on the

parabola y = % + 7z + 2 which is closest to

the straight liney = 3z — 3.

0 o >

o

TP E

Answer: C



https://dl.doubtnut.com/l/_kfgFDRIhH5qW
https://dl.doubtnut.com/l/_0pB4gP6K0d6H

| & Watch Video Solution

55. Consider the parabola y = 2% + 7z + 2
and the straight liney = 3z — 3.
What is equation of the ellipse having foci

o1
( + 27 0) the eccentI’ICIty —7?

L
2 2
y
ALY
64 60
2
y
8. 2 Y 4
60 | 64
2 2
y
C5 T og =1
2
p.2L 4+ ¥ 4


https://dl.doubtnut.com/l/_0pB4gP6K0d6H
https://dl.doubtnut.com/l/_2VryijmPIE0U

Answer: A

o Watch Video Solution

56. U Afth 418U W disd gu 3ifeed &ear &
39Y & sigr difesal it gRat &1 IPT Jeg 10 Hiew
8T & 37 sieT difesal & ot & g3t 8 Hiew & =afth
GRT J-TC U o] FHIBUT S1d HIfSTY

A. 18 7 square metres
B. 157 square metres

C. 127w square metres


https://dl.doubtnut.com/l/_2VryijmPIE0U
https://dl.doubtnut.com/l/_qs7NnPTv9BlS

D. 8T square metres

Answer: B

o Watch Video Solution

57. Consider the parabola y = z* + 7z + 2
and the straight liney = 3z — 3.

The position of the point, (1, 2) relative to the

ellipse 2z + 7y* = 20 is

A. Outside the ellipse

B. inside the ellipse but not at the focus


https://dl.doubtnut.com/l/_qs7NnPTv9BlS
https://dl.doubtnut.com/l/_TNHb9I2ZNcJg

C.on the ellispe

D. at the focus

Answer: A

o Watch Video Solution

58. Consider the parabola y = 2% + 7z + 2
and the straight liney = 3z — 3.

The equation of the ellipse whose centre is at
origin, major axis is along x-axis with

eccentricity 1 and latus rectum 4 units is


https://dl.doubtnut.com/l/_TNHb9I2ZNcJg
https://dl.doubtnut.com/l/_oaJIikGbFIm9

2 Ty?

"To2z T er T 1

5 491> 4 7_3,/2
" 1024 64
C Tx? N 49>
" 1024 64
5 > n 49y
" 1024 64

A

=1

=1

=1

Answer: B

o Watch Video Solution

59. The equation of the ellipse whose vertices

are ( £5,0) and fociat ( £+ 4, 0) is


https://dl.doubtnut.com/l/_oaJIikGbFIm9
https://dl.doubtnut.com/l/_uCA2Scz809dN

72 y2
A — — =1
25 + 9
72 yz
B. — — =1
16 + 9
72 yz
. — — =1
¢ 25 * 16
72 yz

D. — — =1
9 + 25
Answer: A

° Watch Video Solution

60. Consider the parabola y = z* + Tz + 2

and the straight liney = 3z — 3.


https://dl.doubtnut.com/l/_uCA2Scz809dN
https://dl.doubtnut.com/l/_LCzBGvpT9iZb

The sum of the focal distances of a point on an

ellipse is constant and equal to the

A. length of equal to the

B. length of major axis

C.length of major axis

D. length of latus rectum

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_LCzBGvpT9iZb

61. Consider the parabola y = z* + 7z + 2
and the straight liney = 3z — 3.
The equation 2z — 3y* — 6 = 0 represents
A.acircle
B. a parabola

C. an ellipse

D. a hyperbola

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_0M2XPBkc7cyx

62. Consider the parabola y = z* + 7z + 2

and the straight liney = 3z — 3.

2

The two parabolas y* = 4az and z? = 4ay

intersect

A. at two points on the line y = x
B. only at the origin

C. at three points one of which lies on y + x

D. only at (4a, 4a)

Answer: A


https://dl.doubtnut.com/l/_nuMKaYUp1s0b

O Watch Video Solution



https://dl.doubtnut.com/l/_nuMKaYUp1s0b

